pAKMEAESEFTEE2ZHENAR

LESE T2 Py
AN >

=1 aj’ﬁr&%
3 R B 1014611 A (101 45 )

EMETAR |poeeill BB & B



B KM EAKBSEITEF2ME R TAE - NEEREEE
B §k
& Efa -k -3k
BERLEHMEK H#£ -k
LART 5F R AR 8 SRR R -3k
‘“‘%’;ﬁﬁ}f’éﬁfiﬁﬁ%’#ﬂﬂé@% -k
DARTSE ARG B st B k& H—5k
LAURT 5 45 R A B BATIH S & B =7k




B b A K B eI E B2 s R TEE — (N B2 2 F 3 )
& & ¥ T Ok

¢ 3% R H101411 3308
B A # 6 ' T
® h K& ®E A # B8 & B a ¥ AR a4 @ M 8 4 %A
210500-5 4% & & 7% 2,450,000 |221400-2 J& A+ 5% ) £% & 3K 2,450,000
& 3t 2,450,000 | &~ B 2,450,000
(S




B b Kb B K BL IR 2 2 A TEE — (N BER B 3 )

B R L

bR E101410/801 8 4 21015117308 1

A B B 1% %

/J\ ‘é""

48zt

— i IR
(—)LHp&s 17
1.210500-5 4% 4 & 2
(=) A B A
1.231000-0 #& % FiBR-43F 49 B LA AT S5 B30 20
JEAT 5% H A% S 2R OAAT S B AR A M B SRR

il d b o 3t

—~ 4t A
(—)AHn &

1.221400-2 JEAL 3R 4% G 2R LA AT 40 B 30 %
XA
EE K 4

B A 8

2. 211400-6 # 44 2k

T AT #
LA AT 4 JE 3R 5 0
TRk D 2R B
LA AT 4 3R 5 -21,348
3.231000-0 48 % Fkfr-43 49 B LA AT 45 B 3R (4508 1)
JEAT R AR 6 2R UART 455 3R 0k o (G4 ) M B & SRR 3T
(=) A& 77
1.210500-5 1% 4 B 2k

4 B B 3t

> 21,348

21,348

50,000
21,348

-21,348

21,348

2,500,000

21,348

71,348

-21,348

21,348

2,450,000

2,500,000

21,348

2,521,348

71,348

2,450,000

2,621,348




5 kb Bk 6183 & 24 B FAE — (P BR300

A RT 45 JF Bk AR 8 BOARER R

PR E101401 501 8221014117308 1k

BEH P B4t
% " : DA A | s el | REER | AATRK R TR R SRR B3 (Y A
B J& A T A 7 JEA JEAT # JE A+ $ JEA JE A+ #
3
R | B | |[RIEA L %9 % EE S LUCR 3 X R ke R %4 % 1% #
97101 RS X 0 0 0 0 0
5 00080000000-0 33,158 554 1129,658 50,000 29,578,896 2,450,000
01 B F B 0 0 0 0 0
00080110000-9 33,158,554 1,129,658 50,000 29,578,896 2,450,000
01 TkEE KA 0 0 0 0 0
720801110000 33,158,554 1129,658 50,000 29,578,896 2,450,000
01 |M7AKT A& 0 0 0 0 0
72080111010-3-A5* 33,158 554 1129,658 50,000 29,578,896 2,450,000
0300 0 0 0 0 0
WA E 11,224,033 1,129,658 50,000 7,644,375 2,450,000
0400 0 0 0 0 0
85 B B 21,934,521 0 0 21,934,521 0




Btk ARSI A28 R A E — (IR B E 3 )
48 B RE JE AT 3R AR Y 2R BH 4 R
rhf LR 1014111 H 30 H
B4 ¥se
B A 4 %A
=] 5= 32
é it &3t
VAT 4 B8 4
97-99
HtEEEELTAUFE
7208111000-0
2,450,000
Tkl AR ER
7208111010-3-A5% 2 450,000
R KT K E

0300 2,450,000

HHAIEE

0400 i

e &

4 *t 2,450,000




B AW E KBS T F284F TR ;;

(P9 B3R 2 23 3R o)

URISEEARE®

*b >
A & -rv‘ X

rp LR 101401 H 01 H#E 1014211 H30H 1k

B4 e

& F P 6
) B % A (AR) a
# B R % 3 SLRT 4R A *HE;';;;%%‘ -
AH XA 23t X A (AR)#
I P T E T 2 500,000 50,000 50,000 2 450,000
7208111000-0
s 2 500,000 50,000 50,000 2 450,000
780811010-3*
ok T 2 500,000 50,000 50,000 2 450,000
N - 2 500,000 50,000 50,000 2 450,000




N E
B b ABE K BT E S 4 5 TR R BT ROL A R — ST R

& pEEt rhEE RE1014E11H £ e
PRI 3 I ol gy oo | BT oA EOEC| K
R B o g | ROTRRE IR “fﬁﬁﬁm%tﬂlﬁa@&)ﬁzﬁ)ﬁ ﬁﬁ*é
(1) (2) (3) (4)=(2)+(3) (5)=(4)/(1) (6) (7)
R OE A At 33,159 29,579 - 29,579 89.20 33,159
fAT kG 33,159 29,579 - 29,579 89.20 33,159

k| gl A# ‘ EMEITAR o 1] B



N ECER £ B

B KB K BT E P I A AR PATIROUA SR — SR 3R

B A P 3 R B 101411 A A H G
PR - o lEzamE|l R O£ th =
23t F R | W ok () | o) | FRERAT|, s 4l 1.7 B 47 % B) M k &
> EE 2
b oA (B E o) (= 4) %K % 00 % &R H A
(1) (2) ©)] (4)=(2)+(3) (5)=(4)/(1) (6) (7) 2 A % 3 B i 84
R A3t 33,159 29,579 29,579 89.20 33,159 1,130
MK T K 33,159 29,579 29,579 89.20 33,159 1,130




FW Ao W

octrior loowsrsercee | [oozecseyiio | |o09ze09°0s8 | {og ] [ootoriisoze |
loctrior ] |oo000°188°01 | |ooossiLor | looosssrest |[sa ] [ootovtisoze |
[octti01 oo'000008°1 | {000 | 100'000°008° | [va ] [ootovtisoes |
[octrror loo 6y ] ootssorzt | {00000 L0v'eL | [ox ] [o000r1180cL |
octitor looo | {00:000°008 | |oo000°00s | [s60 ] [o000v1180c |
[octtior ] joozos‘LLzvic | Joossrsoscers | [ooooooresso's | [ooo | [gooowiisoze |
loctrior ] |ooo | 1000 | looo | [av | [cotottigoze |
[octrior ] |oowes'ses‘sre | [o0990 15568 | [00°000°0SKErL L | [sv ] [cotortisoee |
[octrior ] |oo0000st'T | loo000°0s | ooo00'00s°z 1[sv ] [cototrisoee |
[octiior loovL2:0v9910° | [ooozzseresss | [00000°9gt05Ey | [ea | [oot0zti809 |
[octtro! loo'szizoz 101 | Joosroieross | [ooLeieeoLeL | [og ] [oo1ss1i8009 |
[octrior ] |oo0eszo9'cy ] [oosze'sssse | [oorssTT6ITL | [sa ] [oorssiigooy |
[octrior ] [ooo | {00 | [oo0 | [+ L [ootss118009 |
[octrior ] |oooesiseLt | |ooses90°9r | [oo6sL008'Ly _I oot | [Loosstisons |
[octrior ] Jooo | looo | [660 ] [Loosstiso09 |
[octrior ] [ooo B oo ] [s60 ] [Loosstigo09 |
[octrior ] |oozesiee | loozes Lee | Toi [L00ss118009 |
[octitor oo s70'6£8°110°C 1 foosseezstors | foooooerserrs | [ooo ] [Loosstisoos |
octiior looo | 1000 | oo | [ooo | [soose1s0es |
loctiior loosov£99's0¢ | [ooocgoss’stt | |oorsLegsoeLy | [og | [zocortisoes |
loctrior ] ootoL'sss'se | {oo0 1 [ooorsssse | [sa | [eocoriigoss |
[octiior ] |oogssteciisiy | foozoroteorty | foooooosezsoy | [€a | [ototiisoss |
loctrior | JooogciLis'sL | loo€cz196'se | 100°695°8L8°STT | [oor | [sooortisoes |
loctrior ] |oooos‘6Lr'e | loo0000se | {0000565L° | {660 | [Soootrisoss |
[octt01 loo'ssL o1y | [oooooosoy | [00°68L°€88'S | [860 ] [sooortisoes |
[octiror looo | 00 | [60 ] [soootrisoes |
loctitor [ | looo | [os0 ] [soootiisoes |
loctrior ] [00'815600°LLE T | foozsrtoczics | |00000 11680 | [ooo | [soootiigoes |
locttior ] {000 | [oooogioec's | 00008968 | [oor | [voo10118065 "~ |
loctrior ] |oovez'996w6 | foooorzosers | |00000°7Lr8€0°T | [ooo | [vo010118065 |
[octti01 looo1£'908'1 | [ooLos061°ow | 002196665 | [oor ] [soooziigoss |
loctrior ] |oozso'seet | looorscoLt | looLysszoe | [660 ] [soooziisoss |

011101 00°LLT68€'LE 00°€ZLL00"LS 00°000°L6E [ooo ] [ so00z11808¢
Fif YR [ I L) Bioesxm | [BHE| | @EYEREE
1001180 MMM 101 FHEB

SR EF &M
H¢ ¥-HI1 &




8 £ A [RAK M BA% [ a ik




